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BACHELOR'S DEGREE PROGRAMME 
(BDP PHILOSOPHY) 

Term-End Examination 
	00518 

December, 2013 

ELECTIVE COURSE : PHILOSOPHY 

BPY-002 : LOGIC : CLASSICAL AND SYMBOLIC 
LOGIC 

Time : 3 hours 	 Maximum Marks : 100 

Note : (i) Answer all the five questions. 

(ii) All questions carry equal marks. 

(iii) Answer to question no. 1 and 2 should be in about 

400 words each. 

1. Explain the kinds of proposition with examples. 	20 

OR 

Elucidate the meaning and kinds of Reasoning. 	20 

2. Define term. Explain the classification of terms 20 

in detail. 

OR 

Define validity and prove the following argument : 
20 

(a) (A v B) 	C 

(b) (C B) = (A E) 

(c) AAE .../E vF 
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3. 	Answer any two of the following in about 
200 words each. 

(a) What is definition ? Describe various kinds 10 
of definitions. 

(b) How does Hume criticize inductive reasoning ? 10 

(c) Briefly explain the basic truth table for 10 
compound proposition. 

(d) Give an example for conditional proof and 10 
explain. 

	

4. 	Answer any four of the following in about 
150 words each. 

(a) Distinguish deductive Logic from inductive 	5 
Logic. 

(b) Differentiate simple and compound 	5 
statements. 

(c) Examine Boole's contribution to modern 	5 
Logic. 

(d) Distinguish conditional from Bi-conditional 
	

5 
proposition. 

(e) State the rules of quantification. 	 5 

(f) Prove the given argument. 	 5 
(i) (H v 1) 	[ JA(KAL)] 

(ii) I  .% TAK 
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5. 	Write short notes on any five of the following in 
about 100 words each. 

(a) Distribution of Term 	 4 

(b) Logos 	 4 

(c) Connotation 	 4 

(d) Induction 	 4 

(e) Ambiguity 	 4 

(f) Truth functions 	 4 

(g) Fallacy 	 4 

(h) Give proof for the following. 	 4 

(i) (D v E) 	( FAG) 

(ii) 	D .. / F 
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(a) (Av B) = C 
(b) (C V  B) = (A = E) 
(c) A IT / E v F 
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3. rWt 

(a)  10 
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(d)  cr-1 rl 	i -gejt d 	ala-q. 	19174 317 --1-f-A7 I 5 

(e)  LI tHlull 	i f9RT1=4 ch) Tf#1:t -4 	I 5 

(f)  3-97 d 	ch filZ W11771 5 

(i) (H v I) 	[ JA(KAL)] 

(ii) I ./ JAK 
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5. 	f-*-t 1ft -5Rt TR --Trli-Tr loo 1.q-I -4 Ttfik7 faixraft 

(a) 4q) 	 4 

(b) -4-1)T1 	 4 

(c) TflpTO (Connotation) 	 4 

(d) 31-711:19. 	 4 
(e) 311:crET 	 4 

(f) (-icgdi-Lhol 	 4 

(g) 4 

(h) F-1 4-1 	#1f4 14 N 4-11u1 q \5-II 	 4 

(i) (D v E) = ( FAG) 
(ii) 	D .-./ F 

BPY-002 	 6 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

